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23. ANTIDERIVATIVES (21/11/2019)

Goals. Wavm'nf) , Evd €xawm,

(1) Idea of inverse operation . ty )
ahan
(2) Antiderivatives by massaging Lot homs 9€.

(3) Antiderivatives of sums

| Last Time. | |
KM If iy, F00- gﬁ—?a‘)(x) 9 [+, @ -)
o ) Nidongy limy ‘F,i) i A
— 0 ) > )(jm 3(‘&“) {01 ,'so:)-lda )
J[JQM um "’;(1) > J.A'W') w _ "

x50 YO Yaa 4%

(o.,s‘o wovks ’Fov L liv, )

X900 ) -a

Warning: only agplies 3 thy limik 15 “incleormmirale 7

— Cam ol e apjow ot Som m»«yub%n;
oy - 3% x  xlyx

‘/Y ) X = e




Math 100 - WORKSHEET 23
ANTIDERIVATIVES

1. WARMUP: INVERSE OPERATIONS

(1) (Multiplication)
(a) Calculate: 7 x 8 =5
(b) Find (some) a,b such that ab = 15.
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(2) (Trig functions)

(a) Calculate: sing = »25—

(b) Find all € such that sinf = 1.
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(3) Simple differentiation
(a) Find one f such that f/(z) = 1.

)2 x29  M)=x20 & "paricula soluffons

"g0neral  Solubion ®
\3 (b) Find all such f.
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2. ANTIDIFFERENTIATION BY MASSAGING
(4) Find f such that f/(z) = 2x°.
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(5) Find f such that f/(z) = —1.
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(6) Find all f such that f/(x) = cos 3.
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3. COMBINATIONS

(7) (Final, 2015) Find a functlon f(z) such that f'(x) =
Smm+f and f(m) =
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(8) (Final, 2016) Find the general antiderivative of f(x) =
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(9) Find f such that f'(z) = 6e" 202
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(10) Find f such that f'(z) = 22'/3—272/% and £(1000) =
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(11) Find f such that f”(z) = sinz+cosz, f(0) = 0 and
PO)=1
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